
1. 

2

2 cos(3 ) 2 sin(3 ) 2cos(3 )
sin(3 )

3 9 27

x x x x x
x x dx C= − + + +∫  

2. 

3 5

2 3 sin sin
sin cos

3 5

x x
x x dx C= − +∫  

3. 
1 1 2

sin sin 1x dx x x x C
− −

= + − +∫  

4. 

2

2

2 3 8 1
ln | 4 | ln | 2 |

( 4)( 2) 2

x x
dx x x C

x x x

+ −
= − + + − +

− + +
∫  

5. tan ln | cos |x dx x C= − +∫  

6. ln lnx dx x x C= −∫  

7. 

2

2 1

2

4 5 1
3ln | 1| ln | 2 | 3 2 tan

( 1)( 2) 2 2

x x x
dx x x C

x x

−
+  

= − − + + + 
− +  

∫  

8. 
2 3/2

2

(9 1)
dx

x −
∫  

9. 
2

tan tanx dx x x C= − +∫  

10. 
x x

x

x
dx xe e C

e

− −

= − − +∫   

11. 
2

2

2

1 4

44

x
dx C

xx x

+
= − +

+
∫  

12. 

4 4

3 ln
ln

4 16

x x x
x x dx C= − +∫   

13. 
2

0
sin

2
x dx

π π
=∫  

14. 

2 2

1

2

3 75 3 25
sin

2 5 225

x x x x
dx C

x

−
− 

= − + 
 −

∫    

15. 

2

2

4 3 1 1
2 ln | 2 3 | 3ln | 2 |

2 6 2

x x
dx x x x C

x x

+ −
= − + + − +

− −
∫   

16. 
/4

4

0

4
sec

3
x dx

π

=∫  


